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QUESTION 1

Which are TWObenefits of Extract-Load-Transform (ELT) over traditional Extract- Transform-Load (ETL) architectures?
(Choose all correct answers)

A. ELT architecture reduces the amount of network traffic over traditional ETL tools, which use a dedicated server.
B. ELT architecture can easily become a bottleneck by placing excessive loads on the target servers.

C. ELT architecture does not require dedicated hardware and leverages native data management engines, such as Big
Data and RDBMs.

D. Traditional ETL tools use a dedicated server, which provides better performance as it can be sized to any workload.

Correct Answer: AC

QUESTION 2

Which database version introduced Zero Downtime online logical migration?
A. Oracle Database 18c

B. Oracle Database 21c

C. OracleDatabase 19c

D. Oracle Database 12c

Correct Answer: B

QUESTION 3

You have a requirement to join data from an Oracle database table and a flat file and load into target DB2 table, using
Oracle Data Integrator (ODI). Which statement is correct about this?

A. Heterogeneous sources and targets are possible in a single mapping only if there is no incremental data load.
B. Flat file data has to have a header row in order to join with Oracle database table ina single mapping
C. Itis not possible to join data from different source connection types in a Single mapping

D. It is possible to mix heterogeneous source connection type and load into any supported target connection type in a
single mapping.

E. It is possible to join data from different source connection types in mapping, but the result must be loaded to Oracle.

Correct Answer: D

QUESTION 4
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In Zero Downtime Migration, which port number is used by the source and target system to access Object Storage?
A. 443

B. 1521

C.22

D. 118

Correct Answer: A

QUESTION 5

Which Oracle product provides highperformance bulk data movement, massively parallel data transformation using
database or Bl data technologies, and block-level data loading that leverages native data utilities?

A. Oracle Data Guard

B. Oracle Data Integrator
C. Oracle Analytics Server
D. Oracle Big Data

Correct Answer: B
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